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CHEMISTRY

BOOKS - NTA MOCK TESTS

NTA JEE MOCK TEST 30

1. Find out the percentage dissociation of an acid having conc. Of 10
M and dissociation constant 1.0 x 103,

A.01

B.0.5

C.1.0

D.2.0


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qMU8RhUVT4H4

Answer: C

o Watch Video Solution

2. A fixed mass m of a gas is subjected to transformation of states

from Kto Lto M to N and back to K as shown in the figure.
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https://dl.doubtnut.com/l/_qMU8RhUVT4H4
https://dl.doubtnut.com/l/_r9TeHGz49KEp

The succeeding operation that enable this transformation of state

are

A. heating, cooling, heating, cooling

B. cooling, heating, cooling, heating

C. heating, cooling, cooling, heating

D. cooling, heating, heating, cooling

Answer: C

o Watch Video Solution

3. Imine formation using an aldehyde/ketone and primary amine is
acid - catalyzed, yet the rate drops below pH 4.5. Why does the rate

drop below this pH?

A.The carbinolamine intermediate is stable at low pH


https://dl.doubtnut.com/l/_r9TeHGz49KEp
https://dl.doubtnut.com/l/_nuz34B1FmgGD

B. The imine product is hydrolyzed at low pH

C. Protonation of the amine decreases its nucleophilicity

D. The amine is hydrolyzed at low pH

Answer: C

o Watch Video Solution

4.1n the following reaction sequence the major product B is

NH,

1\C30 _ Brg
A AcOH B

CH-


https://dl.doubtnut.com/l/_nuz34B1FmgGD
https://dl.doubtnut.com/l/_a7qwr45nhLsg
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NHCOCH;
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p. CHi
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_a7qwr45nhLsg

5. Consider the following reaction

O Qom0
(b)@ + CI‘ .mh\d \l(l

(excess)
(C)©+C‘H3=C‘H—Cl AlCh @CH=CH;

(d) ©+ CH,=CH-CH,Cl -2 QCH:

Which of these reactions are possible ?

A. (b), (c) and (d)
B. (b) and (d)
C.(a) and (d)

D. (a) and (b)


https://dl.doubtnut.com/l/_a7qwr45nhLsg
https://dl.doubtnut.com/l/_efmuimfEUbMg

Answer: B

o Watch Video Solution

6. Metal 'M' forms a carbonly compound in which it is present in its
lower valance state. Which of the following bonding is possible in

this metal carbonly?

M)z T(CO)
QBN L
M >Cc=048
A g 5-—<' v
n(M) 1:2 *(CO)
QM%—CGDCEOQ
(M) i3 7*(CO)
Q5o
‘ G—G>Yx7c_o§
C.
(M) P 7*(CO)
5 %M'@—'@D‘j 7c=o€
Answer: B

| o WMilakd .\t daa ol it a


https://dl.doubtnut.com/l/_efmuimfEUbMg
https://dl.doubtnut.com/l/_OkfAMG41ih3u
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7. Acetic acid (CH3COOH) is partially dimerised to
(CH3COOH)3) in the vapour phase. At a total pressure of 0.200
atm, acetic acid is 92.0% dimerized at 298 K. The value of
equilibrium constant of dimerization under these conditions is
A.57.5atm !
B.9.7atm !

C.97atm !

D. 194atm !

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_OkfAMG41ih3u
https://dl.doubtnut.com/l/_5yn75vx6Czo9

8. Which of the following is the correct method for synthesising
methyl-t-butyl ether and why ?
i. (CH3);CBr + NaOMe —
ii. CH3Br + NaO — t — Bu —
A. method 1should be used
B. method 2 should be used

C. any of the two methods can be used

D. none of the method can be used

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yQ8mCTz1lHj3

9.1n the following reaction, three product a, b, c are obtained.

CH; CH,
' H3POy/heat |

ch—c —CH—CHg—)Hg—C—C — CH = CH,y +
l | |
CH; OH CH;

(a)

H.C CH-
\ /

C—C

H)C/ \CH‘,

CH2
I
—I—ch'— C —CH - CH3
|
CH>
(c)

A (a)33%,(b)64%, (c)3 %

B.(a)3 %, (b)64%, (c)33 %


https://dl.doubtnut.com/l/_7xsWyaE4rqP6

C.(a)3%,(b)33%, (c)64 %

D.(a)64 %, (b)3%, (¢)33 %

Answer: B

o Watch Video Solution

10. 100 mL of 0.3 M acetic acid is shaken with 0.8 g wood charcoal.

The final concentration of acetic acid in the solution after

adsorption is 0.125 M. The mass of acetic acid adsorbed per gram of

charcoal is :

A.105 g

B.0.0131g

C.131g

D.0131g


https://dl.doubtnut.com/l/_7xsWyaE4rqP6
https://dl.doubtnut.com/l/_tcycBXDzN26S

Answer: C

o Watch Video Solution

11. The reaction that doses not produce nitrogen is :

A. heating (NHy),Cr,0;
B. NH; with excess of Cl,
C. heating of NaN;

D. heating of NH;NO;

Answer: B

o Watch Video Solution

12. For an electron whose positional uncertainly is 1.0 x 10~ 1%m,

the uncertainty in the component of the velocity in ms ™ 'will be


https://dl.doubtnut.com/l/_tcycBXDzN26S
https://dl.doubtnut.com/l/_MdPrdHZkKScI
https://dl.doubtnut.com/l/_bzknpBrD8SdW

A.5.8 x 10°

B. 10°

C.10%

D.10%

Answer: A

o Watch Video Solution

13. The standard electrode potentials, E° of
Fe’t JFe*™ and Fe*" /Fe at 300 K are +0.77V and — 0.44V,
respectively. The E° of Fe3 ™ / Fe at the same temperature is

A 121V

B.033V

C. —0.036V


https://dl.doubtnut.com/l/_bzknpBrD8SdW
https://dl.doubtnut.com/l/_tHn2BsfGP6c8

D.0.036V

Answer: C

o Watch Video Solution

14. One mole crystal of a metal halide of the type MX with
molecular weight 119 g having face centered cubic structure with
unit cell length 6.58A was recrystallized. The density of the
recrystallized crystal was founed to be 2.44gem 3. The type of

defect introduced during the recrystallization is
A. additional Mt and X ~ ions at interstitial sites
B. Schottky defect

C.F - centre

D. Frenkel defect


https://dl.doubtnut.com/l/_tHn2BsfGP6c8
https://dl.doubtnut.com/l/_03iSKS5G6mIS

Answer: B

o Watch Video Solution

15. Identify the correct statement :

A. 01 M NacCl and 0.1 M glucose solution are isotonic
B. 0.1 M NaCl and 0.3 M glucose solution are isotonic.

C. The boiling point of 0.1 m aqueous urea solution is less than

0.1 m aqueous KCl solution.

D. The freezing point of 0.1 m glucose solution is less than 0.1 m

KCl solution.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_03iSKS5G6mIS
https://dl.doubtnut.com/l/_LBaUOR4shSdC
https://dl.doubtnut.com/l/_RTN3Pei4v5Wy

16. A reaction is carried out at 600K. If the same reaction is carried
out in the presence of catalyst at the same rate and same
frequency factor, the temperature required is 500K. What is the
activation energy of the reaction, if the catalyst lowers the
activation energy barrier by 20KJ /mol ?

A. 100 kJ/mol

B. 120 kJ/mol

C.80

D. None of these

Answer: B

o Watch Video Solution

17. The ratio of the masses of methane and ethane in a gas mixture

is 4: 5. The rate of number of their molecules in the mixture is:


https://dl.doubtnut.com/l/_RTN3Pei4v5Wy
https://dl.doubtnut.com/l/_80q7Z4W5foZh

A.4:5

B.3:2

C.2:3

D.5:4

Answer: B

o Watch Video Solution

18. Adsorpton of gases on solid surface is generally exothermic

because :

A. enthalpy is positive

B. entropy decreases

C. entropy increases

D. free energy increases


https://dl.doubtnut.com/l/_80q7Z4W5foZh
https://dl.doubtnut.com/l/_xChPpMH5M3YX

Answer: B

o Watch Video Solution

19. Bleaching action of H,O, is due to its :

A. oxidising nature

B. reducing nature

C. acidic nature

D. thermal instability

Answer: A

o Watch Video Solution

20.The antibiotic used for curing tuberculosis is :


https://dl.doubtnut.com/l/_xChPpMH5M3YX
https://dl.doubtnut.com/l/_DRUEfEDKmDpk
https://dl.doubtnut.com/l/_2TcCLBlxBEqs

A. Penicillin

B. Streptomycin

C. Tetracycline

D. Chloromycetin

Answer: B

o Watch Video Solution

21. The maximum number of atoms that may will in the same plane

in the following molecule are x.

— /H
2

Then the value of x is :


https://dl.doubtnut.com/l/_2TcCLBlxBEqs
https://dl.doubtnut.com/l/_u3vSG23cViXl

o Watch Video Solution

22. Consider the following reactions :

NaCl + K2C’T’207 + Hy,S50, — (A) + side pI‘OdllCtS
(Conc.)

(A) + NaOH — (B) + Side products

(B) + H2SO4 + H203 — (C) + Side products
(dilute)

The sum of the total number of atoms in one molecule each of (A),

(B)and (C)is

o Watch Video Solution



https://dl.doubtnut.com/l/_u3vSG23cViXl
https://dl.doubtnut.com/l/_cMcwMYtvnEbW

23. The number of correctly matched combination is/are

Ore Element
Chalcopyrite Cu
Limestone Ca
Corundum Al
Magnetite Fe
Pyrolusite Mn
Cassiterite  Zn
Cinnabar Hg
Calamine Ca
Siderite Sn
Cerussite Pb

o Watch Video Solution

24.In the following sequence of reactions the maximum number of

atoms present in molecule ‘C’in one planeis

Red hot CH;3Cl(leq.)

5 > (Ais a lowest molecular weight alkyne).
Cu tube AnhydrousAlCis

o Watch Video Solution



https://dl.doubtnut.com/l/_2kxoExZmiXw3
https://dl.doubtnut.com/l/_ZczjCneYumK4

25. One mole of a non-ideal gas undergoes a change of state from
(2,0 atm, 3.0 L, 100 K) to (4.0 atm, 5.0 L, 250 K) with a change in
internal energy, AU = 30.0 Latm. The change on enthalpy of

process in (L - atm) is

o Watch Video Solution



https://dl.doubtnut.com/l/_rVPiuBkZbeIT

